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QUESTION 1

Refer to the exhibits. 

The input array of strings is processed by the batch job that processes, filters, and aggregates the values. What is the
last message logged by the Logger component after the batch job completes processing? 

A. [ ["A", "C", "D" ], ["E"] ] 

B. [\\'\\'E\\'\\'] 

C. [\\'\\'D", "E"] 

D. [ "A", "C, "D", "E" ] 

Correct Answer: A 

 

QUESTION 2

Refer to the exhibits. 
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The Set Payload transformer In the addltem subflow uses DataWeave to create an order object. What is the correct
DataWeave code for the Set Payload transformer in the createOrder flow to use the addltem subflow to add a router
cable with the price of 100 to the order? 

A. addltemf { payload: { price: "100", item: "router", itemType: "cable" } > ) 

B. lookupf "addltem", { payload: { price: "100", item: "router", itemType: "cable" } } ) 

C. addltemf { price: "100", item: "router", itemType: "cable" }) 

D. lookupf "addltem", { price: "100", item: "router", itemType: "cable" } ) 

Correct Answer: B 

 

QUESTION 3

Refer to the exhibit. The Batch Job processes, filters and aggregates records, What is the expected output 

from the Logger component? 
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A. [10. 20, 30. 40, 50, 60] 

B. [10. 20] [30, 40] [50, 60] 

C. [20, 40, 60] 

D. [20. 40] [60] 

Correct Answer: D 

 

QUESTION 4

Refer to the exhibit. 
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What is the output payload in the On Complete phase 

A. summary statistics with NO record data 

B. The records processed by the last batch step: [StepTwol, StepTwo2, StepTwo3] 

C. The records processed by all batch steps: [StepTwostepOnel, stepTwostepOne2, StepTwoStepOne3] 

D. The original payload: [1,2,3] 

Correct Answer: D 

 

QUESTION 5

Refer to the exhibit. 
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How many private flows does APIKIT generate from the RAML specification? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: D 
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